Auxiliary Problems for Chapter 16 

1.
Explain the relationship between unemployment and inflation developed by A.W. Phillips.
2.
In which direction would an aggregate supply curve shift lead to stagflation? 

3.
Suppose taxpayers are required to pay a base tax of $50 plus 50 percent on any income over $200. Suppose further that the taxing authority wishes to raise taxes by $30 for incomes of $300.

a) 
Before the tax change, how much tax in paid by someone making $500?
b)
If the base tax of $50 is to remain unchanged, what will the new marginal tax rate have to be?

4.
Suppose households supply 150 billions hours of labor per year and they have a tax elasticity of supply of 0.25. If the tax rate were increased by 5 percent, by how many hours will the labor supply fall?

5.
By how much will the disposable income of the low-income people increase when the bottom marginal tax rate is reduced from 15 percent to 10 percent? Assume the lowest bracket’s combined income is $200 billion. 

